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Why is ������ manṣūb in the following sentence?: 

 

» �	
��
����
�������������� ��������  ������ �� �!�"�#�$ %&�'�( ... «   

 

 

 

(From: Madinah Book 3). 

 

Is it a mafʿūl bihī of the maṣdar �
����
��+ ? 
 

 

 

 
 

If yes, then is its taqdīr : 
 

 

 

 

 

 

 

 

 »��-.�/�
���0 �1�� �� ������������ �� �!�" ������ ���� %&�'�( ...«2  
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Dear Br Hassan, 

 
 

 

ÝøŠÖ]<ÜÓé×Âæ    
 
 
 

 

 

 

 
You are right. It is the mafʿūl bihī of the maṣdar.  

 

Your reconstruction of the taqdīr is also correct.  

 

This reconstructed maṣdar muʾawwal »��-.�/�
���0 �1 «  is the mubtadaʾ,  and 

its khabar is »������ « . 

 
»-.�/�
���0 �1��  ������������ ��������  �� �!�"������ �#�$ %&�'�( ...«   

 

I highly commend you for your understanding of Arabic grammar.  

Mā shāʾ Allāh! 

 

ÝøŠÖ]æ, 

abdur rahim 

Faḍīlat al-Shaykh Dr. V. Abdur Rahim )89- :;��(  replies: 
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